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THetetd 2te| ot

SN (BH) - MBEAY - BAS 0 Ak 2 a‘;f{gf; inE=Er
—ORIBLERY 29 ¥ HoLY
70,000& = 25H 1,750
301 LetE A= 500 500 0
10 SAAHIEAZ 500 500 0
OLHoe 2D LIEHSY DRELL B
& 500, 000& 500
4,800 4,800 0
KA THO 2= &Hl X2l = 1,600
= 3,200
4,800 4,800 0
201 et AH| o= 1,600
= 3,200
02 2249l 4,800 4,800 0
OMoH&2=XAH| X 2eldl (1500 4)
4,800,000& 4,800
< 1,600
= 3,200
162,000 296,000 A 134,000
Srl2g 29 = 186,000
[ 13,000
= 13,000
162,000 296,000 A 134,000
307 2I12+01 A = 186,000
< 13,000
iy 13,000
06 22 162,000 296,000 A 134,000
OZ4ol82e=2 162,000,000 162,000
= 136,000
& 13,000
= 13,000
6,552 5,176 1,376
RHLEOEA F Q)R ot A A = 3,276
= 1,638
= 1,638
6,552 5,176 1,376
201 L2 = 3,276
< 1,638
= 1,638
01 AFR2teld] 6,552 5,176 1,376
OFAHS AHM=ERAMHAAS
6,552,000 6,552
= 3,276
& 1,638
= 1,638
gt 2 THGH 22l 18,500 11,200 7,300




ST erd 2e| ot
Z 2 THOH A 22l

chl  THEHCH ] (cHel: &S
SN EH.S(3) - MEAY - BAS O At ot i HRE2
201 L8t249H| 10,300 3,000 7,300
02 I 10,300 3,000 7,300
O=Zez o MA 8,440
—AAH LT M ABE
100,000& = 23|& = 128 2,400
— Mol AI=SSHSEAAE FAHAE2
10,0003 = 323/ * 128 3,840
—MHHEXREE AAE (Pem-NOP)AIE 2
100,000& * 23| * 6& 1,200
—St= 9 E 3| 1,000,000& 1,000
OAl & &H|I s Xl 1,860
—MHSHEBAAE AH L SX22]
]l 1,000, 000& 1,000
— Mg AE 2H SAHI(E2EX
J|2 138) 40,0008 * 14& 560
-3 S X2l 50,000& = 6CH 300
202 o4 4| 7,200 7,200
01 =2Wdobl 7,200 7,200
O=ZWaHd| 150,000 x4 = 12& 7,200
203 LR F=&H| 1,000 1,000
03 AHFXAIZFAY| 1,000 1,000
O & THAHHEH ALY =&
100,000& * 103 1,000
XFATHGH 2l 315,780 17,360 298,420
201 Yet2AH| 9,380 11,960 AN2,580
01 AtR2t2lbl 9,380 11,960 A2,580
Ogddt=24| 9,380
—Moizel =222 HE 2,400,000& 2,400
—NHAHHE=HSI Y L MHet2telH
DX LAY 30,000& * 308 * 25 1,800
—HoH 22l AFRIQISH
1,20020 * 100% * 1420 1,680
~DHEA AREE 7
200,000& * 5& 1,000
—MLHAMEA 2H AIREE 1,500,000& 1,500
—MLHA S AL ASHEE MY 1,000,000& 1,000
202 OF | 5,400 5,400
01 22Ul 5,400 5,400
O=ZWH| 150,000 3 = 12& 5,400
203 2R =&Y| 1,000 0 1,000
03 AHFALIZFZAY| 1,000 0 1,000
OXNHAMNE R F=&X 100,000& *103] 1,000
207 A I | 300,000 0 300,000
01 dxs9d| 300,000 0 300,000




ST erd 2e| ot
Z 2 THOH A 22l

cHol i LHO Y] (ctel-&d)
DA HB . CH(B) - HRAY - HAS &k ot i Hl D=2
OMGHAFR O AlgaI0la HE S
300,000,000 300,000
500,000 0 500,000
IO E 2N AE 2 = 200,000
[ 300,000
500,000 0 500,000
401 AIEHIZ 2B = 200,000
o 300,000
04 Al&H| 500,000 0 500,000
O3 2| A AE REAS (14])
500,000,000 500,000
= 200,000
i 300,000
AEYHEt 2 9,500 9,500
201 LEr2g| 1,500 1,500
01 AtR2teldl 1,500 1,500
Ooget=8Hl 900
—28= 3,000& * 3004 900
o294 600
—usEd A=Y 200,000& * 32| 600
301 LB A3 8,000 8,000
10 BAAHIRAS 8,000 8,000
Ons 2 2 AP
20,000& * 200¥ = 23l 8,000
536,312 58,698 477,614
=3 = 100,000
= 436,312
MHS=S=+ Mol24 7,000 7,000
302 OI=LTHoH E &3 7,000 7,000
02 QIZIOITHAH 2 &2 7,000 7,000
0S2=2 oK 24
5,000&*100E 145 ™ 7,000
S==7 FUl2X 39,732 39,578 154
201 LEr2HH| 39,732 39,578 154
01 AtR2teld] 39,732 39,578 154
Otz 39,732
—aotd EHl eX=
473,000& * 145 = 404 26,488
—HIgZotd FHILX=
473,000& » 1459 ~ 204 13,244
A& 2e 239,580 12,120 227,460
201 2Er2IH| 5,680 4,920 760
01 ALR2teldl 5,680 4,920 760
Oget=8l 5,680
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SN (BH) - MBEAY - BAS 0 Ak 2 %*l‘;f{gf; inE=Er
S IR
100,000& = 200 * 1459 2,800
~TWHUE L NSBE 2
300,000& * 4= 1,200
—MHoHE R ALRIQIGH
1,200& » 100& * 145 1,680
202 (44| 7,200 7,200
01 22Ul 7,200 7,200
O=2LW A 150,000& = 4% x 128 7,200
203 YR &b 1,000 0 1,000
03 AIMF=XAHRFZAIY| 1,000 0 1,000
O=SZANIAER =X 100,000& = 103l 1,000
401 AlEHIZ 20| 225,700 0 225,700
04 Al&H| 205,000 0 205,000
OYAatE THAHF 2 AIE A AFY (L=242m)
205,000, 0002 205,000
06 Al&=CHl 20,700 0 20,700
OH4+BHET &g Sy2+2
414,000 = 50ha 20,700
250,000 0 250,000
ME MSEXF ol o= 100,000
= 150,000
250,000 0 250,000
401 Al&EHILE0HH] = 100,000
= 150,000
04 Al&H| 250,000 0 250,000
ONGASE =X PHMAS 250,000, 000& 250,000
& 100,000
= 150,000
1,766,951 1,354,714 412,237
PNCECE=T - 414,213
= 1,352,738
1,214,521 1,101, 181 113,340
ASHE T A = 414,213
= 800,308
1,214,521 1,101, 181 113,340
401 Al &EHI L EL0HH] = 414,213
= 800,308
04 Al&H| 1,206,869 1,094,286 112,583
OASHEEHIAS (BIHA) 1,206,869,000& 1,206,869
= 414,213
= 792,656
06 Al&=2040HI 7,652 6,895 757
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AOtAEF A 22 AL 542,323 242,323 300,000
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OA5HAE S X2l AP (347 . 7km)
240,590,000& 240,590
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06 AlES0HHI 1,733 1,733 0
OLotE S 22l At
240,590,000& = 0.72% 1,733
A0t F A &e| o2y 10,107 11,210 A 1,103
101 eI24d| 10,107 11,210 A 1,103
10 JIZtHZ2Z2XNSES 10,107 11,210 A 1,103
OA5td KX ey
45,9403 x2H * 11000 & 10,107
HI & & ot& F bl 151,080 91,000 60,080
|HEGtE R Xl 2| At 151,080 91,000 60,080
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04 Al &bl 150,000 91,000 59,000
Oblg&Eotd =sAl2el 150,000, 000& 150,000
06 Al&=CHHI 1,080 0 1,080
OHlg &6t =Al2el
150,000,000& * 0.72% 1,080
344,229 208,610 135,619
= 971
DIgs 2o
= 101,310
= 241,948
39,384 74,448 A 35,064
= 971
orgke|2te|
& 5,635
o 32,778
1,000 1,166 A 166
= 300
Dl W= WA o
& 210
[ 490
1,000 1,166 AN 166
= 300
301 LEtENZ
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o 490
10 HAIAHIEAZ 1,000 1,166 A 166
O fld=sdusd it 200,000 * 5% 1,000
= 300
== 210
i 490
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SN EH.S(3) - MEAY - BAS O At ot i HIRS 2
— & AH| 200,000& * 3 A * 23] 1,200
ol 100,000& * 34 = 128 3,600
—SEANSLR
150,000 * 3IHA = 33 1,350
OAl & &HI s Al 2,100
—ga A48 S| 700,000& * 3H A 2,100
2,250 2,600 A 350
g=MH 23 & 675
- 1,575
2,250 2,600 A 350
405 XHaHE S HI T 675
= 1,575
01 XA =SEFSHI 2,250 2,600 A 350
og=sH 2 15,0002 * 15094 2,250
= 675
= 1,575
dEAE SN2 2,000 5,500 A 3,500
201 L8tEHH| 2,000 5,500 A 3,500
02 2324l 2,000 5,500 A 3,500
OA & &HI =X b] 2,000
—dEBAIE S| 2,000,000& 2,000
268,670 102,022 166,648
AYUYHRI|A = 95,000
= 173,670
2R3 SMET]| 68, 170 82,222 AN 14,052
301 et A3 68,170 82,222 A 14,052
09 SUAIARLIBAZ 68,170 82,222 N 14,052
o=s3 80,000& x20¥ x12& 19,200
O= Al 5,000& »20H x251 25,100
OunEH| 3,500 »20H x251 17,570
(@M= 130,000& 35 4,550
oozl 30,000& *35Y 1,050
OusAL2E 10,0002 *35H *23] 700
AEagN X 70,500 9,800 60,700
403 XXISHS K20l 70,500 9,800 60,700
02 JJ|2SOICHSHHEH AL H 70,500 9,800 60,700
O4slExAME(Asd) X & A2
32,000,000& 32,000
Ot Se=d &l
10,000 * 200Y * 23| 4,000
O2Z27x&d JIANM 2L (HZQ 25)
5,000,000& 5,000
Oolg &Y PU(LRHEE 204, SH0ot=x=
g S) 20,000,000& 20,000
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= 15,000
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403 NXIEHSKHE20| N < 15,000
= 15,000
02 ZBI|2SO0ICHSHOH & AFE B 30,000 0 30,000
Os=g210| 4388 & X
3,000,000 * 1004 2 30,000
& 15,000
= 15,000
o2AbAHEs = XH 20,000 10,000 10,000
301 YetE A= 20,000 10,000 10,000
03 2SASHAIEY 20,000 10,000 10,000
oo gaety X 2,500,000& * 43 10,000
OYABAYH JISBAHS N
10,000, 000& 10,000
oAl AR 80,000 0 80,000
< 80,000
401 Al&HILEL0HH] 80,000 0 80.000
& 80,000
04 Al&H| 80,000 0 80,000
OR0H o248 M= 80,000,000& 80,000
& 80,000
MEES(IHLtorA 22 ) 149,885 139,851 10,034
LK 21 2§ XI 5 (JH LHOH & 2+2) T} ) 149,885 139,851 10,034
LHEHeH KIS (T Hot™ 22| 1) 149,885 139,851 10,034
702 JI2HE2 149,885 139,851 10,034
01 JI2d8s=2 149,885 139,851 10,034
OMt2e| 2 14,988,429,783*1/100 149,885
HAESHAAY| (oA 22| ) 30,432 54,447 N24,015
Ql2d 2 AH| (XY LHortA 22| 1) 4,200 5,400 A 1,200
Qlad 2 A Y| (XY LHotA 22| 1) 4,200 5,400 A 1,200
203 &R =&H| 3,000 4,200 A 1,200
04 BENSHELEF=EH| 3,000 4,200 A 1,200
OFRANSHERE=LNH| 250,000& =128 3,000
204 A PLHAH| 1,200 1,200 0
01 HNMIHRHAHY| 1,200 1,200 0
OX#MZHRFAIH| 100,000& x12& 1,200
Jl=2Z Y| (THLHoHA 22| }) 26,232 49,047 N22,815
Jl2Z | (HLterd 22| ) 26,232 49,047 N22,815
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